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Paper First
BUSINESS STATISTICS
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Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
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Define statistics and discuss its characteristics.

P.T.O.
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0—7 19
7—14 25
14—21 36
21—28 72
28—35 51
35—42 43
42—49 28

Calculate mean, median and mode from the following data :

Class-Interval Frequency
0—7 19
7—14 25
1421 36
21—28 72
28—35 51
35—42 43

42—49 28
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Describe briefly the various methods of measuring the

dispersion.
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4—38 6
8—12 10
12—16 18
16—20 30
20—24 15
24—28 12
28—32 10
32—36 6
36—40 2

P.T.O.
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Compute the quartile deviation and coefficient of skewness

of the following data :

Size Frequency
4—8 6
8—12 10
12—16 18
16—20 30
20—24 15
24—28 12
28—32 10
32—36 6
36—40 2
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You are given the following results of height and weights of

1000 men :
Weight (Ibs) Height (inch)
Mean 150 68
Standard Deviation 20 2.5

Coefficient of correlation = 0.6.
Estimate from the above data :
(@) The weight of a man, who is 5 feet tall.
(b) The height of a man whose weight is 200 Ibs.
JIdT
(Or)
Plel U & FEd oNd Bl URETNT Y de ghel
WY 91T | g oAy o ol |

Define Karl Pearson’s correlation coefficient and give its

limitations. Also state its merits and demerits.

P.T.O.
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What are Time Reversal Test and Factor Reversal Test ?

State how Fisher’s ideal index number satisfies these tests.
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(i) 2014 BT ST qY AR

(ii) 2018 @I ITH qY AR

(iii) 2021 T 2022 @ fory fdes! &7 SR 1 1 DI -
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2016 100
2017 120
2018 110
2019 140
2020 180
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From the data given below, find secular trend by least
squares method taking :
(i) 2014 as origin
(i) 2018 as origin
(iii)  Also estimate the sales for 2021 and 2022 :

Year Sales (X in lakh)

2016 100

2017 120

2018 110

2019 140

2020 180
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What is meant by business forecasting ? Discuss briefly the
important theories of business forecasting.
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Four cards are drawn without replacement. What is the

probability that they are aces ?

P.T.O.
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A dice is thrown twice. Find the probability of
obtaining a ‘6’ in the first trial and an odd number in

the second trial.
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A card is drawn at random from a pack of 52 cards.

What is the probability that it will be a card of heart or
club or seven ?



